(4) L 65T R8T RABERE ; (5£)
(5) L2 69 The v (184 18 i3 NE; ($5)
CILxbs TRAER# E %, (10%)
() 3£ 3R 1% *‘E:@ 1145 2X 46, (205)
CIEGERY £ 0 b #FIEE, (205)
(4)%% 0AEISH6 PERItE, 16 3R 03T

B=8.§, +=0 6%, '?i%l?zath.t 2% 7
254% 13 B, =8, Sint &y | 1K7) -48% b~
AL 18 BH: 2 511 t, Z|6i5 BAT 7 89 34

/ “




GEEE =L LRI R AE -0,
ét@"@?‘th’—fwd;&’ FL'# (202)
(5) Fia & Yukawe B i

V= -V /(Ta) | (40, 2>0)
$3if, Bhik1%E &3 ﬁ Rm=eF7% 4
Lt pares el s4d P 205)
(—sf‘Fﬁ}Eaéﬁ'%.)‘ |

HEFR 4L
¥L+ Vou = Hd A4 —m(m2i) Yx,mt[ :
*fﬁ%ﬁ:(ra ?).

YW=82 1% =
Vi=n2(p2), L o '

- (SI'Hﬂa _.......L..____,
L PL )+ 'sin'd 2¢*




